] = o)
]ﬁ o >\ (( )) fyra brak, decimaler, ordningsfoljd

—

namn: Datum: Poéng:
2 1 1

——4,3x2+6%x =-+3= —+2,4+ =

5 , 3 3 , 3x5,4

3 2 1 1
_—_—4X_: —_—— — —_ =

13 $07373%3
3—27><5-|-15><34*5= 1—1><4+6><58*3—
4 T 3 5 O
1+3><2—16><3;4— 52+1><2+36—

2 2 5 T3 T

53+l><5+6><§+2: 2,6 -9x2,4+-3-4x3 9=
9 6 2

www.snowmath.com


https://www.snowmath.com

fyra brak, decimaler, ordningsfoljd

namn: Datum: Poéng:
2 1 13 8 1 191 I

2 43xotgxbayo B 80 L 4= — 19—

57 43X2T6x373=(C) = (CTg) 5244354 = = O

) 17 1 1 53 23

_—_—4 [ — — — —_——— — —_— e — — —

173 Y570 3673 73%5735 7 13

3 51 1 1 167 2
) 15X3. 445 = (—2o)=(—2—) —— x4+ 3= =
3 27T 15x3,455=(50)=(25) 5 C416x35,8%3= 3 15
13 3 noo1 1 42 7
L 2x2 16X D d= =] 5.2+ 2 x2+3.6= 2 -9
273" 3 0 10 ST NET 07 95 TS
I 3 319 19 101 1
5.3+ Xx5+6x2+2= 22 = 10— 2.6-0x2. 4+3—4x3,9=(—)= (-20~
3+ x5 20 20 , X2, x3,9=( 5) ( 5)
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